# A Class of Multivariate Hermite Interpolation of Total Degree 

Zhongyong HU ${ }^{1,2}$, Zhaoliang MENG ${ }^{1, *}$, Zhongxuan LUO ${ }^{1,3}$<br>1. School of Mathematical Sciences, Dalian University of Technology, Liaoning 116024, P. R. China;<br>2. School of Mathematics and Statistics, Taishan College, Shandong 271021, P. R. China;<br>3. School of Software, Dalian University of Technology, Liaoning 116620, P. R. China


#### Abstract

In this paper we study a class of multivariate Hermite interpolation problem on $2^{d}$ nodes with dimension $d \geq 2$ which can be seen as a generalization of two classical Hermite interpolation problems of $d=2$. Two combinatorial identities are firstly given and then the regularity of the proposed interpolation problem is proved.


Keywords multivariate Hermite interpolation; regularity; total degree
MR(2010) Subject Classification 65D05

## 1. Introduction

Let $n, d$ be nonnegative integers and $\Pi_{n}^{d}$ be the space of polynomials of total degree at most $n$. Let $\mathscr{X}=\left\{X_{1}, X_{2}, \ldots, X_{m}\right\}$ be a set of pairwise distinct points in $\mathbb{R}^{d}$ and $\mathbf{p}=\left\{t_{1}, t_{2}, \ldots, t_{m}\right\}$ be a set of $m$ nonnegative integers. The Hermite interpolation problem to be considered in this paper is described as follows: For given real values $\left\{c_{i, \boldsymbol{\alpha}}, 1 \leq i \leq m, 0 \leq|\boldsymbol{\alpha}| \leq t_{i}\right\}$, find a polynomial $f \in \Pi_{n}^{d}$ satisfying

$$
\begin{equation*}
D^{\boldsymbol{\alpha}} f\left(X_{i}\right)=c_{i, \boldsymbol{\alpha}}, \quad 1 \leq i \leq m, \quad 0 \leq|\boldsymbol{\alpha}| \leq t_{i}, \tag{1}
\end{equation*}
$$

where $\boldsymbol{\alpha}=\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{d}\right),|\boldsymbol{\alpha}|=\alpha_{1}+\cdots+\alpha_{d}$,

$$
D^{\boldsymbol{\alpha}}=\frac{\partial^{|\boldsymbol{\alpha}|}}{\partial x_{1}^{\alpha_{1}} \ldots \partial x_{d}^{\alpha_{d}}}
$$

and the numbers $t_{i}$ and $n$ are assumed to satisfy

$$
\begin{equation*}
\binom{n+d}{d}=\sum_{i=1}^{m}\binom{t_{i}+d}{d} . \tag{2}
\end{equation*}
$$

The interpolation problem $(\mathbf{p}, \mathscr{X})$ is called regular if the above equation has a unique solution for each choice of values $\left\{c_{i, \boldsymbol{\alpha}}\right\}$. Otherwise, the interpolation problem is singular. If $(\mathbf{p}, \mathscr{X})$ is regular for almost all $\mathscr{X} \subset \mathbb{R}^{d}$, then we say that $(\mathbf{p}, \mathscr{X})$ is almost regular. In fact, if the interpolation problem is regular for some $\mathscr{X} \subset \mathbb{R}^{d}$, then it is also regular for almost all $\mathscr{X} \subset \mathbb{R}^{d}$ (see [1]). Thus we also say that $(\mathbf{p}, \mathscr{X})$ is almost regular if it is regular for some $\mathscr{X} \subset \mathbb{R}^{d}$.

[^0]The research on the regularity of multivariate Hermite interpolation is very difficult because Eq. (2) does not hold in many cases. For $m \leq d+1$, all interpolation schemes are singular [1,2]. For $m \leq d+3$, a complete description for the regularity of the interpolation problem was given in [3]. For $m \leq d(d+3) / 2$, authors [4] presented many regular interpolation schemes. For more results of multivariate Hermite interpolation, one can refer to [5-10] and the references therein. Especially, the following theorem is classical in the theory of multivariate Hermite interpolation, which has been widely used in multivariate splines and finite element theory.

Theorem 1.1 ([1]) Let $d=2$. Interpolating the value of a function and all of its partial derivatives of order up to $p$ at each of the three vertices of a triangle as well as the value of the function and all of its derivatives of order up to $p+1 / p-1$ at a fourth point lying anywhere in the interior of the triangle by polynomials from $\Pi_{2 p+2}^{2} / \Pi_{2 p+1}^{2}$ is regular.

In [4], the result in Theorem 1.1 was extended to $d=3$.
Theorem $1.2([4])$ Let $\mathscr{X}=\left\{X_{1}=(1,1,1)^{T}, X_{2}=(1,0,0)^{T}, X_{3}=(0,1,0)^{T}, X_{4}=(0,0,1)^{T}, X_{5}=\right.$ $\left.(1,1,0)^{T}, X_{6}=(1,0,1)^{T}, X_{7}=(0,1,1)^{T}, X_{8}=(0,0,0)^{T}\right\}$, and $\mathbf{p}=\{t-1, t, t, t, t, t, t, t+1\}$ or $\mathbf{p}=\{t-1, t-1, t-1, t-1, t, t, t, t\}(t \geq 1)$. Then $(\mathbf{p}, \mathscr{X})$ is regular.

The purpose of this paper is to generalize Theorems 1.1 and 1.2 to higher dimension.

## 2. Main results

Eq. (2) is a necessary condition to study whether the interpolation problem is regular. So, we first present a lemma with $n, d$ and $\mathbf{p}$. For convenience, let $\binom{N}{M}=0$ if $N<M$.

Lemma 2.1 Suppose $t \in Z$. Then

$$
\begin{gather*}
\binom{t+1+d}{d}+\sum_{i=0}^{[(d-1) / 2]}\binom{d+1}{2 i+2}\binom{t-i+d}{d}=\binom{2 t+2+d}{d}  \tag{3}\\
\sum_{i=0}^{[d / 2]}\binom{d+1}{2 i+1}\binom{t-i+d}{d}=\binom{2 t+1+d}{d} \tag{4}
\end{gather*}
$$

where [•] denotes the integral part.
Proof The proof is by induction. For $d=2$, it is easy to get

$$
\begin{gathered}
\binom{t+1+2}{2}+3\binom{t+2}{2}=\binom{2 t+2+2}{2} \\
3\binom{t+2}{2}+\binom{t+1}{2}=\binom{2 t+1+2}{2}
\end{gathered}
$$

which implies that Eqs. (3) and (4) hold.
Suppose that Eqs. (3) and (4) hold for $d=m$, and we will show that they also hold for
$d=m+1$. If $m$ is an even number, adding Eq. (3) to Eq. (4) will give

$$
\begin{aligned}
& \binom{t+1+m}{m}+\sum_{i=0}^{m / 2-1}\left[\binom{m+1}{2 i+2}+\binom{m+1}{2 i+1}\right]\binom{t-i+m}{m}+\binom{t-m / 2+m}{m} \\
& =\binom{t+1+m}{m}+\sum_{i=0}^{m / 2-1}\binom{m+2}{2 i+2}\binom{t-i+m}{m}+\binom{t-m / 2+m}{m} \\
& =\binom{2 t+2+m}{m}+\binom{2 t+1+m}{m},
\end{aligned}
$$

which holds for any $t \in Z$. Substituting $j$ for $t$ and taking the summation with respect to $j$ on the both sides of the equation, we can get

$$
\begin{align*}
& \sum_{j=-1}^{t}\binom{j+1+m}{m}+\sum_{j=-1}^{t} \sum_{i=0}^{m / 2-1}\binom{m+2}{2 i+2}\binom{j-i+m}{m}+\sum_{j=-1}^{t}\binom{j-m / 2+m}{m} \\
& =\sum_{j=-1}^{t}\binom{2 j+2+m}{m}+\sum_{j=-1}^{t}\binom{2 j+1+m}{m} \tag{5}
\end{align*}
$$

By simple computation, we have

$$
\begin{aligned}
& \sum_{j=-1}^{t}\binom{j+1+m}{m}=\binom{t+2+m}{m+1} \\
& \sum_{j=-1}^{t}\binom{j-i+m}{m}=\binom{t-i+m+1}{m+1} \\
& \sum_{j=-1}^{t}\binom{j-m / 2+m}{m}=\binom{t-m / 2+m+1}{m+1} \\
& \sum_{j=-1}^{t}\left[\binom{2 j+1+m}{m}+\binom{2 j+2+m}{m}\right]=\binom{2 t+2+m+1}{m+1}
\end{aligned}
$$

Substituting these equalities into Eq. (5) yields

$$
\begin{aligned}
& \binom{t+2+m}{m+1}+\sum_{i=0}^{m / 2-1}\binom{m+2}{2 i+2}\binom{t-i+m+1}{m+1}+\binom{t-m / 2+m+1}{m+1} \\
& =\binom{t+1+m+1}{m+1}+\sum_{i=0}^{m / 2}\binom{m+1+1}{2 i+2}\binom{t-i+m+1}{m+1} \\
& =\binom{2 t+2+m+1}{m+1}
\end{aligned}
$$

which implies that Eq. (3) holds for $d=m+1$.
Replacing $t$ with $t-1$ in Eq. (3), we have

$$
\binom{t+m}{m}+\sum_{i=0}^{m / 2-1}\binom{m+1}{2 i+2}\binom{t-1-i+m}{m}=\binom{2 t+m}{m}
$$

i.e.,

$$
\binom{t+m}{m}+\sum_{i=1}^{m / 2}\binom{m+1}{2 i}\binom{t-i+m}{m}=\binom{2 t+m}{m} .
$$

Adding this equation to (4) yields

$$
\sum_{i=0}^{m / 2}\left[\binom{m+1}{2 i}+\binom{m+1}{2 i+1}\right]\binom{t-i+m}{m}=\binom{2 t+m}{m}+\binom{2 t+1+m}{m}
$$

i.e.,

$$
\sum_{i=0}^{m / 2}\binom{m+2}{2 i+1}\binom{t-i+m}{m}=\binom{2 t+m}{m}+\binom{2 t+1+m}{m}
$$

It holds for any $t \in Z$. Substituting $j$ for $t$ and taking the summation with respect to $j$ on the both sides of the equation, we can get

$$
\sum_{j=0}^{t} \sum_{i=0}^{m / 2}\binom{m+2}{2 i+1}\binom{j-i+m}{m}=\sum_{j=0}^{t}\left[\binom{2 j+m}{m}+\binom{2 j+1+m}{m}\right] .
$$

By further calculation, it is easy to obtain

$$
\sum_{i=0}^{m / 2}\binom{m+2}{2 i+1}\binom{t-i+m+1}{m+1}=\binom{2 t+1+m+1}{m+1}
$$

Since $m$ is an even number, the above equality can be rewritten as

$$
\sum_{i=0}^{[(m+1) / 2]}\binom{m+1+1}{2 i+1}\binom{t-i+m+1}{m+1}=\binom{2 t+1+m+1}{m+1}
$$

Therefore, Eq. (4) holds for $d=m+1$.
Similarly, if $m$ is an odd number, Eqs.(3) and (4) also hold for $d=m+1$. By induction, we complete the proof.

Next, we consider the corresponding interpolation problems when Eqs. (3) and (4) hold. Noting that

$$
\begin{aligned}
& 1+\sum_{i=0}^{[(d-1) / 2]}\binom{d+1}{2 i+2}=1+\sum_{i=0}^{[(d-1) / 2]}\left[\binom{d}{2 i+1}+\binom{d}{2 i+2}\right]=\sum_{i=0}^{d}\binom{d}{i}=2^{d} \\
& \sum_{i=0}^{[d / 2]}\binom{d+1}{2 i+1}=\sum_{i=0}^{[d / 2]}\left[\binom{d}{2 i}+\binom{d}{2 i+1}\right]=2^{d}
\end{aligned}
$$

the number of interpolation nodes is $2^{d}$ and the interpolation nodes can be selected as follows. Suppose that $K=[0,1]^{d}$ denotes the $d$ dimensional hypercube. Obviously, it denotes unit rectangle or unit cube for $d=2$ or 3 , respectively. Define

$$
\mathscr{X}_{k}=\{X \in \mathscr{X}:|X|=k\}, \quad k=0,1,2, \ldots, d .
$$

Then the number of the points in $\mathscr{X}_{k}$ is

$$
\left|\mathscr{X}_{k}\right|=\binom{d}{k}, \quad k=0,1,2, \ldots, d
$$

and obviously $\mathscr{X}=\cup_{k=0}^{d} \mathscr{X}_{k}$. And let

$$
\begin{gathered}
p_{0}=t+1, p_{1}=t, p_{2}=t, \ldots, p_{i}=t-[(i-1) / 2], \ldots, p_{d}=t-[(d-1) / 2] \\
q_{0}=t, q_{1}=t, q_{2}=t-1, \ldots, q_{k}=t-[k / 2], \ldots, q_{d}=t-[d / 2] .
\end{gathered}
$$

Then we have the following theorem.
Theorem 2.2 (i) If $f \in \Pi_{2 t+2}^{d}$ satisfies

$$
\begin{equation*}
D^{\boldsymbol{\alpha}} f\left(X_{i}\right)=0, \quad X_{i} \in \mathscr{X}_{k}, \quad 0 \leq|\boldsymbol{\alpha}| \leq p_{k}, k=0,1, \ldots, d, \tag{6}
\end{equation*}
$$

then $f \equiv 0$.
(ii) If $f \in \Pi_{2 t+1}^{d}$ satisfies

$$
\begin{equation*}
D^{\boldsymbol{\alpha}} f\left(X_{i}\right)=0, \quad X_{i} \in \mathscr{X}_{k}, \quad 0 \leq|\boldsymbol{\alpha}| \leq q_{k}, k=0,1, \ldots, d, \tag{7}
\end{equation*}
$$

then $f \equiv 0$.
Proof The proof is by induction with respect to the dimension $d$. For $d=2,3$, the results are true and given by $[1,3]$. Suppose two statements hold for any dimension less than $d$ and we will show that they also hold for $d$. We prove the first result firstly.

Again we prove it by induction about $t$. For $t=0$, the result is the same as $[3$, Theorem 15] and is correct. Assume that the result is correct for any integer less than $t$.

Any polynomial of order $2 t+2$ can be written as

$$
f\left(x_{1}, x_{2}, \ldots, x_{d}\right)=x_{1} f_{1}\left(x_{1}, x_{2}, \ldots, x_{d}\right)+r_{1}\left(x_{2}, x_{3}, \ldots, x_{d}\right)
$$

where $f_{1}$ is a polynomial with $\operatorname{deg}\left(f_{1}\right) \leq 2 t+1$ and $r_{1}$ is a polynomial with $\operatorname{deg}\left(r_{1}\right) \leq 2 t+2$.
Consider the interpolation conditions on the hyperplane $x_{1}=0$

$$
\begin{align*}
& D^{\boldsymbol{\alpha}} f\left(X_{i}\right)=0,\left.\quad X_{i} \in \mathscr{X}_{k}\right|_{x_{1}=0}, \quad \boldsymbol{\alpha}=\left(0, \alpha_{2}, \ldots, \alpha_{d}\right),  \tag{8}\\
& 0 \leq|\boldsymbol{\alpha}| \leq p_{k}, \quad k=0,1, \ldots, d,
\end{align*}
$$

where $\left.\mathscr{X}_{k}\right|_{x_{1}=0}$ denotes the set of the points in $\mathscr{X}_{k}$ with $x_{1}=0$.
Substituting $f$ into (8) yields

$$
\begin{align*}
& D^{\boldsymbol{\alpha}} r_{1}\left(X_{i}\right)=0,\left.\quad X_{i} \in \mathscr{X}_{k}\right|_{x_{1}=0}, \quad \boldsymbol{\alpha}=\left(0, \alpha_{2}, \ldots, \alpha_{d}\right),  \tag{9}\\
& 0 \leq|\boldsymbol{\alpha}| \leq p_{k}, \quad k=0,1, \ldots, d .
\end{align*}
$$

Since $r_{1}$ is a polynomial with respect to $x_{2}, \ldots, x_{d}$ and of $\operatorname{deg}\left(r_{1}\right) \leq 2 t+2$, interpolation problem (9) can be seen as a $d-1$ dimensional interpolation problem. According to the inductive hypothesis for $d$, we have $r_{1} \equiv 0$ and $f=x_{1} f_{1}$. Similarly, $f$ can be divided by $x_{i}, i=2, \ldots, d$. Hence $f$ can be written as

$$
f\left(x_{1}, x_{2}, \ldots, x_{d}\right)=x_{1} x_{2} x_{3} \ldots x_{d} g\left(x_{1}, x_{2}, \ldots, x_{d}\right), \quad \operatorname{deg}(g) \leq 2 t+2-d
$$

If $2 t+2<d$, we have $f \equiv 0$. Otherwise, we consider the interpolation conditions on the hyperplane $x_{1}=1$. The following conditions should be satisfied

$$
\begin{equation*}
D^{\boldsymbol{\alpha}} g\left(X_{i}\right)=0,\left.\quad X_{i} \in \mathscr{X}_{k}\right|_{x_{1}=1}, \quad 0 \leq|\boldsymbol{\alpha}| \leq p_{k}-d+k, k=0,1, \ldots, d \tag{10}
\end{equation*}
$$

where $p_{k}-d+k=t+[k / 2]+1-d$. Again let

$$
g\left(x_{1}, x_{2}, \ldots, x_{d}\right)=\left(x_{1}-1\right) g_{1}\left(x_{1}, \ldots, x_{2}\right)+r_{2}\left(x_{2}, \ldots, x_{d}\right)
$$

where $r_{2}\left(x_{2}, \ldots, x_{d}\right)$ is a polynomial of degree no more than $2 t+2-d$. Substituting $g$ into (10) yields

$$
\begin{gathered}
D^{\boldsymbol{\alpha}} r_{2}\left(X_{i}\right)=0,\left.\quad X_{i} \in \mathscr{X}_{k}\right|_{x_{1}=1}, \quad \boldsymbol{\alpha}=\left(0, \alpha_{2}, \ldots, \alpha_{d}\right), \\
0 \leq|\boldsymbol{\alpha}| \leq t+[k / 2]+1-d, \quad k=0,1, \ldots, d .
\end{gathered}
$$

Thus we have $r_{2} \equiv 0$ by inductive hypothesis of the second statement for odd $d$ and the first statement for even $d$, which means that $g$ can be divided by $x_{1}-1$. Similarly, $g$ can be divided by $x_{i}-1, i=2,3, \ldots, d$. If $2 t+2-2 d<0$, the result is true. Otherwise, together with the previous conclusion, we have

$$
f\left(x_{1}, x_{2}, \ldots, x_{d}\right)=x_{1} x_{2} \ldots x_{d}\left(x_{1}-1\right)\left(x_{2}-1\right) \ldots\left(x_{d}-1\right) h\left(x_{1}, x_{2}, \ldots, x_{d}\right),
$$

where $\operatorname{deg}(h) \leq 2 t+2-2 d$ and

$$
\begin{equation*}
D^{\boldsymbol{\alpha}} h\left(X_{i}\right)=0, \quad X_{i} \in \mathscr{X}_{k}, \quad 0 \leq|\boldsymbol{\alpha}| \leq p_{k}-d, k=0,1, \ldots, d \tag{11}
\end{equation*}
$$

Clearly, (11) is the same interpolation problem as (6), but substituting $t-d$ for $t$. By the inductive hypothesis for $t$, we have $h \equiv 0$ and hence $f \equiv 0$. Therefore, the first statement holds for $d$ and is proved by inductive method.

The proof of the second statement is similar and omitted. We complete the proof.
Remark 2.3 In Theorem 2.2, only $t \geq 0$ is required for (6) and $t \geq 1$ is required for (7). If $p_{k}<0$, it implies that no interpolation happens at this point and the results are also true.

## References

[1] R. A. LORENTZ. Multivariate Birkhoff Interpolation. Springer-Verlag, Berlin, 1992.
[2] R. A. LORENTZ. Multivariate hermite interpolation by algebraic polynomials: a survey. J. Comput. Appl. Math., 2000, 122(1-2): 167-201.
[3] Zhaoliang MENG, Zhongxuan LUO. On the singularity of multivariate Hermite interpolation. J. Comput. Appl. Math., 2014, 261: 85-94.
[4] Zhongyong HU, Zhaoliang MENG, Zhongxuan LUO. On the singularity of multivariate Hermite interpolation of total degree. Discrete Dyn. Nat. Soc., 2016, Art. ID 7515876, 11 pp.
[5] H. V. GEVORGIAN, H. A. HAKOPIAN, A. A. SAHAKIAN. On the bivariate hermite interpolation problem. Constr. Approx., 1995, 11(1): 23-35.
[6] C. DE BOOR, A. RON. On multivariate polynomial interpolation. Constr. Approx., 1990, 6(3): 287-302.
[7] Junjie CHAI, Na LEI, Ying LI, et al. The proper interpolation space for multivariate Birkhoff interpolation. J. Comput. Appl. Math., 2011, 235(10): 3207-3214.
[8] M. GASCA, T. SAUER. On bivariate Hermite interpolation with minimal degree polynomials. SIAM J. Numer. Anal., 2000, 37(3): 772-798.
[9] M. GASCA, T. SAUER. On the history of multivariate polynomial interpolation. J. Comput. Appl. Math., 2000, 122(1-2): 23-35.
[10] M. GASCA, T. SAUER. Polynomial interpolation in several variables. Adv. Comput. Math., 2000, 12(4): 377-410.


[^0]:    Received January 12, 2017; Accepted March 15, 2017
    Supported by the National Natural Science Foundation of China (Grant Nos. 11301053; 61432003).

    * Corresponding author

    E-mail address: mzhl@dlut.edu.cn (Zhaoliang MENG)

